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17. 解：（1）设休闲区的宽为
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18. 解：（1）由题意可得圆的方程为
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19．解：(1)
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20.解：（1）∵函数
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21． A.证明：设
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C.  解：由
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D．证明：(a＋eq \F(1,b))(2b＋eq \F(1,2a))
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（2）证明：（用数学归纳法证明）
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证法二：因为
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23.解：(1) 
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（2）由上知, 当x > a>0时,  fn ( x ) = xn – ( x + a)n是关于x的减函数,
∴ 当n ( a时, 有 (n + 1 )n– ( n + 1 + a)n ( n n – ( n + a)n.             

又 
[image: image251.wmf]n+1

 

()

fx

¢

= ( n + 1 ) [xn  –( x+ a )n ] ,

∴
[image: image252.wmf]n+1

 

(1)

fn

¢

+

 = ( n + 1 ) [(n + 1 )n  –( n + 1 + a )n ] 
< ( n + 1 )[ nn – ( n + a)n]
 = ( n + 1 )[ nn – ( n + a )( n + a)n – 1 ],                                                

( n + 1 )
[image: image253.wmf] 

()

n

fn

¢

= ( n + 1 )n[n n – 1 – ( n + a)n – 1 ] 
= ( n + 1 )[n n – n( n + a)n – 1 ].
∵ n + a > n , ∴
[image: image254.wmf]+1

 

(1)

n

fn

¢

+

 < ( n + 1 ) 
[image: image255.wmf] 

()

n

fn

¢

 .                   ……………… 10分 






















































































































































第 1页，共 6页

_1383937196.unknown

_1384022584.unknown

_1384024380.unknown

_1384024422.unknown

_1384024439.unknown

_1389000497.unknown

_1389003769.unknown

_1389004243.unknown

_1389005105.unknown

_1389005497.unknown

_1389005498.unknown

_1389005374.unknown

_1389004646.unknown

_1389003977.unknown

_1389004013.unknown

_1389003803.unknown

_1389003722.unknown

_1389003751.unknown

_1389003300.unknown

_1384620410.unknown

_1387456939.unknown

_1387456992.unknown

_1384620450.unknown

_1384024443.unknown

_1384025113.unknown

_1384026451.unknown

_1384026453.unknown

_1384026454.unknown

_1384025114.unknown

_1384025092.unknown

_1384024444.unknown

_1384024441.unknown

_1384024442.unknown

_1384024440.unknown

_1384024431.unknown

_1384024435.unknown

_1384024437.unknown

_1384024438.unknown

_1384024436.unknown

_1384024433.unknown

_1384024434.unknown

_1384024432.unknown

_1384024427.unknown

_1384024429.unknown

_1384024430.unknown

_1384024428.unknown

_1384024424.unknown

_1384024426.unknown

_1384024423.unknown

_1384024414.unknown

_1384024418.unknown

_1384024420.unknown

_1384024421.unknown

_1384024419.unknown

_1384024416.unknown

_1384024417.unknown

_1384024415.unknown

_1384024410.unknown

_1384024412.unknown

_1384024413.unknown

_1384024411.unknown

_1384024382.unknown

_1384024409.unknown

_1384024381.unknown

_1384023667.unknown

_1384024372.unknown

_1384024376.unknown

_1384024378.unknown

_1384024379.unknown

_1384024377.unknown

_1384024374.unknown

_1384024375.unknown

_1384024373.unknown

_1384024345.unknown

_1384024370.unknown

_1384024371.unknown

_1384024346.unknown

_1384024342.unknown

_1384024344.unknown

_1384024341.unknown

_1384022980.unknown

_1384022985.unknown

_1384022989.unknown

_1384022991.unknown

_1384022992.unknown

_1384022993.unknown

_1384022990.unknown

_1384022987.unknown

_1384022988.unknown

_1384022986.unknown

_1384022982.unknown

_1384022983.unknown

_1384022981.unknown

_1384022976.unknown

_1384022978.unknown

_1384022979.unknown

_1384022977.unknown

_1384022586.unknown

_1384022975.unknown

_1384022585.unknown

_1384020951.unknown

_1384020967.unknown

_1384020975.unknown

_1384022578.unknown

_1384022581.unknown

_1384022583.unknown

_1384022580.unknown

_1384022575.unknown

_1384022576.unknown

_1384020976.unknown

_1384020971.unknown

_1384020973.unknown

_1384020974.unknown

_1384020972.unknown

_1384020969.unknown

_1384020970.unknown

_1384020968.unknown

_1384020959.unknown

_1384020963.unknown

_1384020965.unknown

_1384020966.unknown

_1384020964.unknown

_1384020961.unknown

_1384020962.unknown

_1384020960.unknown

_1384020955.unknown

_1384020957.unknown

_1384020958.unknown

_1384020956.unknown

_1384020953.unknown

_1384020954.unknown

_1384020952.unknown

_1384020935.unknown

_1384020943.unknown

_1384020947.unknown

_1384020949.unknown

_1384020950.unknown

_1384020948.unknown

_1384020945.unknown

_1384020946.unknown

_1384020944.unknown

_1384020939.unknown

_1384020941.unknown

_1384020942.unknown

_1384020940.unknown

_1384020937.unknown

_1384020938.unknown

_1384020936.unknown

_1383937213.unknown

_1383937221.unknown

_1383937229.unknown

_1383937233.unknown

_1383937237.unknown

_1384020365.unknown

_1384020409.unknown

_1383938331.unknown

_1383937238.unknown

_1383937235.unknown

_1383937236.unknown

_1383937234.unknown

_1383937231.unknown

_1383937232.unknown

_1383937230.unknown

_1383937225.unknown

_1383937227.unknown

_1383937228.unknown

_1383937226.unknown

_1383937223.unknown

_1383937224.unknown

_1383937222.unknown

_1383937217.unknown

_1383937219.unknown

_1383937220.unknown

_1383937218.unknown

_1383937215.unknown

_1383937216.unknown

_1383937214.unknown

_1383937205.unknown

_1383937209.unknown

_1383937211.unknown

_1383937212.unknown

_1383937210.unknown

_1383937207.unknown

_1383937208.unknown

_1383937206.unknown

_1383937200.unknown

_1383937202.unknown

_1383937204.unknown

_1383937201.unknown

_1383937198.unknown

_1383937199.unknown

_1383937197.unknown

_1383936825.unknown

_1383936841.unknown

_1383936849.unknown

_1383937192.unknown

_1383937194.unknown

_1383937195.unknown

_1383937193.unknown

_1383936851.unknown

_1383937191.unknown

_1383936850.unknown

_1383936845.unknown

_1383936847.unknown

_1383936848.unknown

_1383936846.unknown

_1383936843.unknown

_1383936844.unknown

_1383936842.unknown

_1383936833.unknown

_1383936837.unknown

_1383936839.unknown

_1383936840.unknown

_1383936838.unknown

_1383936835.unknown

_1383936836.unknown

_1383936834.unknown

_1383936829.unknown

_1383936831.unknown

_1383936832.unknown

_1383936830.unknown

_1383936827.unknown

_1383936828.unknown

_1383936826.unknown

_1383936807.unknown

_1383936815.unknown

_1383936819.unknown

_1383936821.unknown

_1383936824.unknown

_1383936820.unknown

_1383936817.unknown

_1383936818.unknown

_1383936816.unknown

_1383936811.unknown

_1383936813.unknown

_1383936814.unknown

_1383936812.unknown

_1383936809.unknown

_1383936810.unknown

_1383936808.unknown

_1383936668.unknown

_1383936672.unknown

_1383936805.unknown

_1383936806.unknown

_1383936673.unknown

_1383936670.unknown

_1383936671.unknown

_1383936669.unknown

_1383936663.unknown

_1383936665.unknown

_1383936667.unknown

_1383936664.unknown

_1383936661.unknown

_1383936662.unknown

_1383936660.unknown

